
SAP ABAP table ESALES_PRODAVAIL {Availability of a Product}

ESALES_PRODAVAIL

MANDT [CLNT (3)]

PRODUCT [CHAR (18)]

OPAREA [CHAR (4)]

POST_CODE [CHAR (10)]

CUST_CLASS [CHAR (4)]

NEW_CUSTOMER [CHAR (1)]

EOPAREA

MANDT [CLNT (3)]

OPAREA [CHAR (4)]

 ESALES_PRODAVAIL-OPAREA = EOPAREA-OPAREA 
0..N

0..N

ESALES_UTILPROD

MANDT [CLNT (3)]

PRODUCT [CHAR (18)]

 ESALES_PRODAVAIL-PRODUCT = ESALES_UTILPROD-PRODUCT 
0..N

0..N

KONTOKLASSE

MANDT [CLNT (3)]

KTOKL [CHAR (4)]

 ESALES_PRODAVAIL-CUST_CLASS = KONTOKLASSE-KTOKL 

0..N

0..N

T000

MANDT [CLNT (3)]

 ESALES_PRODAVAIL-MANDT = T000-MANDT 

0..N

0..N


